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K Uwulwygh wGjwbnuip Lpwybtph <pwytiph UGhwiwwyw
wwhwloGtphG wwhwloGtphG wnwufuwlinip]
hwiwywwnmwufuwlnn shuwiwyuwunwufuwlnn | wl hwiwnnun
hwjmtn hwjmtin (Qwnpwqgnpnip)
/huiwyuwunwuuwltne | /shuiwyuumwuuwitn G
nhiypnud Gy “X”/ 1 nhiypnud Gy “X7/
1 «Unplpwwh Uwpghuy UNEL X
2 «Unuktupny Une X
3 «HE'L O3y UMP X
4 «h(gihy Opbyn Lwnigy UNE X
5 «4. Unjuhujw( L pGYtpGpy UNE X
UwulwyhgGtinh Uwulwlygh whjwlnudp ClnpJwod dwulwlhg | Uwulwlygh wnwownlywo
quntgnuod /mGunpywd dwulwlygh qhG
wbnbipn hwiwp Gyt “X”/ /wnwlg UL/
1 «HEL O3y UMpe X 750
2 «Unutupny» UMNC 833.33
3 «4. UnjuhujwG L pGYytpGtp» 1040
umnp
4 «Uplpwwnp Uwupghu»y UNC 1333.33
5 «bhGqihy Ophn {wnigy UNEe 3000
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2424 UwuGwlgh wigwlnwip <nwytiph <nwytiph UGhwiwuyw
wwhwGeGtnhG wwhwGeGtnhG wnwufuwlnip)
hwiwywwnmwufuwlng shuiwywunwufuwlnn | wl hwiwnnun
hwjntin hwjntin (jwnpwaqpnip)
/huiwyunwuiwlbin | /shuiwyunmwuuwGbin G
nhiypm Gyt “X”/ 1 nhiugpnid Gy “X7/
1 «Unplpwwh Uwpghu»y UNE X
2 «Updwi- Oy Uty» UMne X
3 «Unukupny UMne X
4 «qunklohpy UMNP X
5 «HE'L O3y UMP X
6 «blqih ©pbyy {wunigy UNE X
7 «4. Unjuhyywi L pGytpGtpy UMNe X
UwulwyhglGtph Uwulwygh wlgwlnuip Canpwo dwulwyhg | Uwulwlygh wnwowunpyuo
quntignuod wmbintipp /pGunpjuo dwuGwygh qhG
hwdwnp Gy “X”/ /wnwGg UUL/
4 «Unplpwwh Uwpghuy UNEL 1583.335
2 «Updwi- Oy Uty UMe 1458.34
1 «Unuktupny» UMne X 1329.17
3 «Quptiohpy UMNC 1500
5 «FHEL O3y UMp 1615
6 «blqihy Opbyn <wnigy UNE 1667
7 «4. UnjuhuywG L pGytpGtip» 1840
unp
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hwiwywwnmwufuwlng shwiwyuwumwujuwlnng | wl hwiwnnwun
hwjntin hwjntin (uwpwqpnip)
/hwdwyuwnwufuwibm | /shuiwywunwuuwGhn niG
nhiwypmu Gyt “X”/ 1 nhiwpnid Gk “X7/
1 «Uplpywwnp Uupghu»y UNE X
2 «UpdiwG- Opp Uky» UMe X
3 «Unutupny UMNC X
4 «Gunptloh» UMNLC X
5 «2HEU O3y UMp X
6 «bGqihy Opbn {wunigy UNE X
7 «4. Unjuhujw@ L pGytpGhpy UNC X
UwulwyhgGtinh Uwulwlygh wijwlnuip ClnpJwo swulwlhg | Uwulwygh wnwownpluwo
quntgpwo mtntpp /nGumpJuo dwulGwlygh qhG
hwdwnp Gy “X”/ /wnwlg UUL/
3 «Uplpwwnp Uupghuy UNC 600
5 «UpdiwG- Op Uky» UML 666.67
1 «Unutupny UM X 512.5
6 «Quntlohy UMNP 666.7
4 «2HEuv O3y UMp 605
2 «hGqihy Opbn Lwunigy UNEL 542
3 «4. UnjuhujwG L pGYytpGtp» 600
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hwjmtip hwjmtin (Qwnpwqpnip)
/huiwyunmwuniwbnt | /shuiwyuwunwuiwGbin mG
nhiypmy Gk “X”/ 1 nhiwypmy by “X”/
1 «Unlkwwh Uwpghuy UNL X
2 «Undw(- Op Uty» UMNL X
3 «Unukupny» UMNe X
4 «Guntlohy UMNP X
5 «2+Euv O3y UMp X
6 «h(qihy Ophyn Lwnigy UNCL X
7 «4. Unjuhuyyw( L pGytpGtp»y UM X
UwulwlhgGtinh Uwulwlygh whjwlnuip COanpJwo dwuGwyhg | UwulGuygh wnwowpyuod
quntgpwo mtntpp /nGnpyuo dwulwygh qhG
hwiwp Gy “X”/ /wnw g UUL/
5 «Unplkywwh Uwpghuy UM 1200
3 «Unpdwl- Op Uty» UMNL 1083.34
6 «Unukupn» UN 1250
1 «GuptGophp UM X 916.7
2 «1HEL O3y UMp 1095
4 «bGqihy Opbn Lwunigy UNEL 1177
7 «4. UnjuhujwG L pGYytpGtp» 1400
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wwhwloGtinhG wwhwloGtinha wnwufuwlnip)
hwiwywwnmwufuwlnn shudwyuwunmwufuwlnn | wl hwiwnnwun
hwjmtp hwjmtin (Qwnpwqnpnip)
/huiwyumnmwuuwbbin | /shuiwyuwnmwuuwGbin mG
nhiypmy Gk “X”/ 1 nhiypmy Gohy “X”/
1 «Uplpwwnp Uupghuy UNC X
2 «UpdiwG- Opp Uky» UML X
3 «Unutupny UM X
4 «GuntlGohy UM X
5 «2HEv O8Ly UMp X
6 «hGgihy Ophjy Lwnigy UNCL X
7 «4. Unjuhujw( L pGytpGhp»y UMNC X
UwulwyhgGtinh Uwulwlygh wijwlnudp ClnpJwo swulwlhg | Uwulwygh wnwownpluwo
quntgpwo mtntpp /nGumpJuo dwulGwlygh qhG
hwdwnp Gyt “X”/ /wnwlg UUL/
6 «Uplpwwnp Uupghuy UNCL 1475
2 «UpdiwG- Op Uky» UML 1066.67
3 «Unutupny UM 1203.33
1 «Quntlohy UMNP X 916.7
5 «2+Euv O3y UMp 1425
4 «hGqihy Opbn Lwunigy UNEL 1267
7 «4. UnjuhujwG L pGYytpGtp» 1600
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hwiwwwwnmwuuwlnn shwiwywunwuuwlng | w6 hwdwnnn
hwjmtip hwjmtin (Qwnpwqpnip)
/Awtwywunwufuwlbne | /shwdwywnwufuwGhin nil
ntiypnd Gty “X”/ 1 nhiypmy Gty “X”/
1 «Unlwwh Uwpghuy UNL X
2 «Undw(- Op Uty» UMNL X
3 «Unukupn» UMNe X
4 «GuntlGohy UMNP X
5 «2HEuv O3y UMp X
6 «hGqihy Ophyn Lwnigy UNCL X
7 «4. Unjuhuyyw( L pGYytpGtp»y UM X
UwulwlhgGtinh Uwulwlygh whjwlnuip COanpJwo dwuGwyhg | UwulGuygh wnwowpyuod
quntgpwo mtntpp /nGnpduo Jwulwlygh qhG
hwiiwp Gyt “X”/ /wnw g UUL/
7 «Unplkywwh Uwpghuy UMNL 10750
1 «Unpdw(- Op Uthy» UMNL X 858
3 «Unukupn» UN 1083.33
2 «GuptGophp UM 866
4 «1HEL O3y UMmp 1095
5 «bGqihy Opbn {Lwunigy UNEL 1142
6 «4. UnjuhujwG L pGYytpGtp» 1850
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CGunpJwo dwulwyghl npn2tijnt hwdiwp jhpwngwo swthwbhy” GjuquagniyG ghG
Quthwpwdhl 7
Q-(iwl wowplw £ hwlnhuwlmy  Jhulnghl /|
K Uwulwygh wiywlnuin <pwybtph <pwytph UGhwiwww
wwhwloGtphG wwhwleGtinhG wnwufuwlnip)
hwiwywwnmwufuwlnn shudwyuwunmwufuwlnn | wl hwiwnnwun
hwjmtp hwjmtin (Qwnpwqnpnip)
/huiwyunmwuuwbbn | /shuiwyuwnmwuuwGbin mG
nhiypmy Gk “X”/ 1 nhiypmy Gohy “X”/
1 «Uplpwwnp Uupghuy UNC X
2 «UpdiwG- Opp Uky» UML X
3 «Unutupny UM X
4 «GuntlGohy UM X
5 «2HEuv O3y UMp X
6 «4. Unjuhujw( L pGytpGhp»y UMNL X
UwulwyhgGtinh Uwulwlygh whjwlnudp ClnpJwo swulwlhg | Uwulwygh wnwownpluwo
quntgpwo mtntpp /nGumpJuo dwulGwlygh qhG
hwdwnp Gy “X”/ /wnw(g UL/
5 «Uplpwwnp Uupghuy UNC 1050
3 «UpdiwG- Op Uky» UML 791.67
4 «Unutupny UM 1041.67
2 «Quntlohy UMNP 666.7
6 «1EL O3y UMe 1135
1 «4. UnjuhujwG L pGYytpGtp» X 640
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hwiwwwwmwuluwlnn shwiwywunwuuwlng | w6 hwdwnnn
hwjmtip hwjmtin (Qwnpwqpnip)
/huiwyunmwuniwbnt | /shuiwyuwunwuiwGbin mG
nhiypmy Gk “X”/ 1 nhiwypmy by “X”/
1 «Unlkwwh Uwpghuy UNL X
2 «Undw(- Op Uty» UMNL X
3 «Unutupny UM X
4 «Guntlohy UMNP X
5 «h(qihy Ophyn Lwnigy UNCL X
6 «4. Unjuhuyyw( L pGytpGtp»y UM X
UwulwlhgGtinh Uwulwlygh whjwlnuip COanpJwo dwuGwyhg | UwulGuygh wnwowpyuod
quntgpwo mtntpp /nGnpyuo dwulwygh qhG
hwiwp Gy “X”/ /wnw g UUL/
5 «Unplkywwh Uwpghuy UM 3000
2 «Unpdwl- Opy Uty» UMNL 1416.67
4 «Unukupn» UN 2079.16
1 «GuptGophp UM X 916.7
3 «bGqihy Opbn Lwunigy UNEL 1942
6 «4. UnjuhujwG L pGYytpGtp» 4100
umnp
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hwjmtp hwjmtip (Qwnpwqnpnip)
/huiwyumnmwuuwbbin | /shuiwyuwnmwufuwGbin mG
nhiypmy Gk “X”/ 1 nhiypmy Gohy “X”/
1 «Uplpwwnp Uupghuy UNCL X
2 «UpdiwG- Opp Uky» UML X
3 «Unutupny UM X
4 «GuntlGohy UM X
5 «2HEuv O3y UMp X
6 «hGgihy Ophjn Lwnigy UNCL X
7 «4. Unjuhujw( L pGytpGhpy UMNCL X
UwulwyhgGtinh Uwulwlygh wijwlnudp ClnpJwo swulwlhg | Uwulwygh wnwownpluwo
quntgpwo mtntpp /nGumpJuo dwulGwlygh qhG
hwdwnp Gy “X”/ /wnwlg UUL/
5 «Uplpwwnp Uupghuy UNC 1400
2 «UpdiwG- Op Uky» UML 1125
2 «Unutupny UM 1125
1 «Guntlohy UM X 1000
3 «2HEv O3y UMp 1130
4 «hGqihy Opbn Lwunigy UNEL 1308
6 «4. UnjuhujwG L pGYytpGtp» 1500
umnp
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hwjntip hwjuntip (Qwnpwqnpnip)
/huiwyuunwunwbnt | /shuiwyuwumwuiwGbin mG
nhiypmy Gk “X”/ 1 nhiypmy by “X”/
1 «Unlkwwh Uwpghuy UNL X
2 «Undw(- Op Uty» UMNL X
3 «Unutupny UM X
4 «QuntlGohy UMNP X
5 «2HEv O3y UMp X
6 «h(qihy Ophyn Lwnigy UNCL X
7 «4. Unjuhuyyw( L pGytpGtpy UMNCL X
UwulwlyhglGtph Uwulwlygh whjwlnuip COnpJwo swulwyhg | Uwulwygh wnwownpluwod
quntgpwo mtntpp /nGnpyuo dwulwygh qhG
hwiwp Gy “X”/ /wnw g UUL/
5 «Unplkywwh Uwpghuy UMNL 1400
3 «Unpdw(- Op Uty» UMNL 1158.34
4 «Unukupn» UN 1275
1 «GuptGophp UM X 666.7
2 «1HEL O3y UMpe 1095
6 «bGqihy Opbn {Lwunigy UNEL 1542
5 «4. UnjuhujwG L pGYytpGtp» 1400
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wwhwloGtphG wwhwloGtphG nwufuwlnp]
hwiwywwnmwufuwlnn shuwiwyuwunwufuwlng | w6 hwiwnnun
hwjmtp hwjmtin (Qwnpwqnpnip)
/hudiwyuwunwuuwltine | /shuiwyuumwuuwitin G
nhiwypnud Gy “X”/ 1 nhiypnud Gk “X7/
1 «4. UnjuhuywG L pGytpGtp» UMne X
2 U/Q Uquuwnthh Gphgjwi X
UwulwyhgGtinp Uwulwlygh wiywlnuin COnpJwo dwulwyhg | Uwuluwygh wonwownpyuod
quntgnuo mtintipp /nGunpYuo dwulwygh qhG
hwdwp Gty “X/ /wnwGg UUL/
1 «4. Unjuhujw@ L pGytipGtp» X 9200
umpe
2 U/Q Uquunihh Gphgjwi 10000
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wwhwloGtphG wwhwloGtphG nwufuwlinp]
hwiwywwnwufuwlnn shudwyuwunwufuwlng | w6 hwiwnnwun
hwjntp hwjwntp (qupwqnpnip)
/Autwywunwufuwlbnt | /shwdwwywnmwufuwGbin nil
ntiypnd Gty “X”/ 1 nhiypmy Gty “X”/
1 «Uplpwwnp Uwupghu»y UNC X
2 «UpyuwGhy» UNL X
3 «Quligtqnip Epupiy» UMNL X
UwulwlyhglGtph Uwulwlygh wijwlnuip ClnpJwo swulwyhg | Uwulwygh wnwownpluwo
quntgpwo mtntpp /nGumpJuo dwuGwygh qhG
hwdwnp Gyt “X”/ /wnwlg TUL/
3 «Unplkwwh Uwpghuy UNL 26666.75
2 «UnpwuwGhy» UNe 25833
1 «Qulqtqnip Epuhdwy UM X 20826.6
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wwhwl9GtphG wwhwloGtphG nwufuwlinp]
hwiwywwnmwufuwlnn shwiwywunwufuwlng | w6 hwiwnnwun
hwjmtp hwjmtip (Qwnpwqpnip)
/huiwyunmwuuwbbn | /shuiwyuwnmwuuwGbin mG
nhiypmy Gk “X”/ 1 nhiypm Gohy “X”/
1 «Uplpwwnp Uupghuy UNCL X
2 «UpyuwGhy» UMNL X
3 «Quligtiqnip Epupiy» UMNL X
UwulwyhgGtinh Uwulwlygh whjwlnuip CanpJwo twulwyhg | Uwulwlygh wnwowpluo
quntgpwo mtntpp /nGunpduo Jwulwlygh qhG
hundwip Gty “X’/ /wnwGg UUL/
2 «Uplpwwnp Uupghuy UNCL 28333.25
3 «UnpwuwGhy» Uyne 33333
1 «Qulqtignip Epupiwyy» UM X 20826.6
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hwjntip hwjntin (Ywnpwqnpnip)
/huiwyunwubiwbbnt | /shuiwyuwumwuiwibn mG
nhiwypnud Gy “X/ 1 nhiypnud Gy “X7/
1 U/Q ‘bnpwyn hupwjbjjwb X
2 «4. UnjuhuyywG L pGYytpGhp»y UM X
UwulwyhglGtph Uwulwygh wijwlnuin ChnpJwo dwulwyhg | Uwulwygh wnwownpluwod
quntgpwo mtntpp /nGnpyuo dwulwygh qhG
hwiwp Gy “X”/ /wnw g UUL/
U/Q Uquuwnthh Gphgjwi 15000
1 «4. UnjuhujwG L pGYytpGtp» X 12000
umne
CGunpJwo dwulwyghb npn2tint hwiwp jhpunwo swihwbh) GjuquaniyG ghG
Quithwpwdh 153
Q-Gdwl wonwpyuw L hwlnhuwlnd” Upghjuliw wfuwwmnn pugnly / hwwn
/KR Uwulwlgh wGjwlnuip Lpwybtph <pwytiph UGhwiwwyw
wwhwloGtphG wwhwloGtphG wnwufuwlinp]
hwiwywwnwufuwlnn shudwyuwunwufuwlnn | w6 hwiwnnun
hwjntp hwjntp (Jupwqpnip)
/Autwywunwufuwlbne | /shwdwwywnmwufuwGbiin nil
ntiypnud Gy <X’/ L phypnud Gty <X/
1 U/Q unpwyjp bupwjtijjwb X
«4. Unjuhujw@ L pGytpGhapy UNC X
UwulwyhgGtinh Uwulwlygh wijwlnudp ClnpJwo swulwlhg | Uwulwygh wnwownpluwo
quntgpwo mtntpp /nGumpJuo dwulGwlygh qhG
hwdwp Gty “X/ /wnwGg UUL/
1 U/Q bnpwjp bupwjtijjwb X 2041.5
«4. Unjuhuyw@ L pGytipGtip» 3500
umne
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ClunpJwo dwulwlghl npnptint hwdwnp jhpwnjwo swihwGhy GjuquagniyG ghG



Q-Gdwl wopwpyuw kL hwlnhuwlnd® Upghjuyiwl pwsnyh dwldtn / hwwn

K UwuGwlgh whjuwlnuip <pwytiph <pwytiph UGhwiwww
wwhwloGtphG wwhwloGtphG nwufuwlinp]
hwiwywwnwufuwlnn shutwyuwunwufuwlng | w6 hwiwnnwun
hwjntip hwjuntip (Qwnpwqnpnip)
/huiwyuunwunwbnt | /shuiwyuwumwuiwGbin mG
nhiypmy Gk “X”/ 1 nhiypmy by “X”/
1 U/Q ‘bnpwynp hupwjbtyjwb X
«4. Unjuhuyyw( L pGYytpGtp»y UM X
UwulwlhgGtinh Uwulwlgh wijwlnuin Canpwo dwulwyhg | Uwulwlgh wnwowpluo
quntgpwo mtntpp /nGmpJuo dwuGwygh qhG
hwdwnp Gyt “X”/ /wnwlg TUL/
2 U/Q ‘bnpwyp hupwjbjjwb 658.3333
1 «4. UnjuhujwG L pGYytpGtp» X 600
une
CGunpJwo dwulwyghb npntint hwiwp jhpunwo swihwbh) GJuquagniyG ghG
Quithwpwdh 155
Q-Gdwl wopwpyuw t hwlnhuwinmy Upghjuydwl dwlnimd / Ynduyg
LK Uwulwlgh wGjwlnuip Lpwybtph <pwytiph UGhwiwwyw
wwhwl9GtphG wwhwloGtphG nwufuwlinp]
hwiwywwnmwufuwlnn shwiwywunwufuwlng | w6 hwiwnnwun
hwjmtp hwjmtip (Qwnpwqnpnip)
/hudiwyuwunwuuwltne | /shuiwyuumwuiwitn G
nhiypnid Gk “X”/ 1 nhiypnud Gy “X7/
1 U/Q ‘bnpwyp hupwjbipjwb X
«4. Unjuhujwi L pGYytpGtp»y UM X
UwulwyhgGtinh Uwulwlygh whjwlnuip CaunpJwo twulwyhg | Uwulwlygh wnwowpluo
quntgpwo mtntpp /nGnpduo Jwulwlygh qhG
hundwp Gty “X’/ /wnwlg UUL/
1 U/9 ‘unpwyp bupwjtpywl X 13250
2 «4. UnjuhujwG L pGYytpGtp» 13900
umne

Quithwpwdh 156

ClnpJwo dwulwlghb npntynt hwdwp jhpwnjwo swhwbhy GJuquagniyG qhG

Q-Gdwl wnwpyuw L hwlnhuwlnd” Uywytdwpnpsh pundhs / Ynduyg

/R Uwulwlgh wijwlnuin <pwytiph <pwytiph UGhwiwww
wwhwloGtphG wwhuw(9GtphG wnwufuw(inip]
hwiwwwwnwuluwlng shwiwywunwuuwlng | w6 hwiwnnn
hwjmtip hwjntin ((Qwnpwqpnip)

/Autwywunwufuwlbne | /shwdwywnmwufuwGbin nil

ntiypnd Gty “X”/ 1 nhiypmuy Gty “X”/
X

1 U/Q unpwjp bupwjtijjwb




2 | «4. UnjuhujwG L pGYkpGpy UMD | X |
Uwulwlhgltiph Uwulwlgh wijwlnuin CanpJwo dwulwyhg | Uwulwlgh wnwowpluo
quntgpwo mtntpp /nGmpJuo dwulGwlygh qhG
hwdwnp Gyt “X”/ /wnwlg TUL/
1 U/Q ‘bnpwyp hupwjbtyjwb X 53334
«4. UnjuhujwG L pGYtpGtp» 9200
une

Quithwpwdh 157

Q-Gdwl wopwpyuw L hwlnhuwlnmd” QuuubGwy / Ynduy
{pwytph

{pwybph

CGunpJwo dwulwyghb npn2tint hwiwp jhpunwo swihwbh) GJuquagniyG ghG

UGhwiwww
nwufuw(inip]

R

Uwulwlgh wijwlnuip

wwhwloGtphG
hwiwywwnmwufuwlnn
hwjntip
/huiwyunmwuuwGbn
nhiwypnud Gy “X/

L nhiwpn

wwhwloGtphG
shuiwywunmwufuwlnn
hwjntin
/shuiwywmwuuwGtin

wl hwdiwnnun
GQunpugpnip)
nG

i Gty “X7/

1 U/Q ‘bnpwynp hupwjbjjwb

X
X

2 «4. Unjuhujw@ L pGYtpGhpy UNE

CGunpJwo dwulwlyhg

Uwulwlgh wnwownplwo

UwulwyhglGtph
quntignwd wmbintipp

Uwulwygh wijwlnuin

hwiwp Gy “X”/

/nGnpyuo dwulwygh

qhd
/wnw g UUL/

26583.5

2

U/Q ‘bnpwyn hupwjbjwb

X

14950

1

ump
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Q-Giwl wonwpyuw £ hwlnhuwlnd’ {gnpugdwl mnihh nbd. / Yndyy

CGunpJwo dwulwyghl npn2tijnt hwdiwp yhpungwo swthwbhy” GjuquagniyG ghG

Lpwybtph UGhwiwwyw

R

Uwulwlygh whjwbnuip

wwhwloGtphG
hwiwywwnwufuwlnn

/Autwwywnwufuwtiint
ntiypnud Gy <X’/

{pwytiph

hwjwntp

X

wwhwloGtphG
shuiwyyuwunmwufuwlng

/shuiwwyuwunwufuwGbin
L phypnud Gty <X/

wnwufuwlinp]
w( hwdwnnn
GYwpuqpnip)

hwjwntp
nil

1 U/Q unpwyjp bupwjtijjwb

X

2 U/Q Uquunithh Gphgjwi
3 «4. Unjuhujw@ L pGytpGhapy UNC

X

CGnpJwo dwulwlyhg

Uwulwygh wnwoupywo

UwulwyhgGtph
qUuntignwo wmtintpp

Uwulwlygh wijwlnudp

/nGunpYuo dwulwygh
hwdwp Gty “X/

qhd
/wnwig UUL/

116583
54000

3

U/Q unpwyjp bupwjtijjwb

U/Q Uquunithh Gphgjwi

X

36800

1

umne
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Q-Gdwl wonwpyuw L hwlnhuwlnmd Epujujuwwmnph hhnpudfung / Yynduyg

ClunpJwo dwulwlyghb npnptynt hwdwp jhpwnjwo swhwlhy GJuquagniyG ghG




/R Uwulwlgh wijwlnuin <pwytiph <pwytiph UGhwiwww
wwhwloGtphG wwhwloGtphG nwufuwlinp]
hwiwywwnwufuwlnn shudwyuwunwufuwlng | w6 hwiwnnwun
hwjntp hwjwntp (qupwqnpnip)
/Autwywunwufuwlbnt | /shwdwwywnmwufuwGbin nil
ntiypnd Gty “X”/ 1 nhiypmu Gyt “X”/
1 | /9 Uquwnthh Gphgjwi X
«4. Unjuhujw@ L pGYtpGhpy UNC X
UwulwlyhglGtph Uwulwlygh whjwbnuip ChnpJwo swulwyhg | Uwulwygh wnwownpluwod
quntignuo wmbntipp /nGunpYuo dwulwygh qhG
hundwp Gty “X/ /wnwlg UUL/
U/Q Uquunthh Gphgjui 450000
1 «4. UnjuhujwG L pGytinGtip» X 143000
umnp

Quithwpwdh( 160

Q-(iwl wnwpyuw E hwlnhuwlnd” Epujujuwwmnph pwpdhsh yapwlnpngiwb Yndyy. / Yndyyg

CGunpJwo dwulwyghb npntiint hwdiwp yhpunwo swthwbhy GJuquagniyG ghG

LK Uwulwlygh wGJwlnuip Lpwybtph <pwytiph UGhwiwwyw
wwhwl9GtphG wwhwloGtphG nwufuwlinp]
hwiwywwnmwufuwlnn shwiwyuwunwufuwlng | w6 hwiwnnwun
hwjntip hwjntin (Ywnpwqnpnip)
/huiwyuunwubiwbnt | /shuiwyuwumwuiwGbn mG
nhiwypnd Gy “X”/ 1 nhiypnud Gy “X7/
1 U/Q Uquuwunthh Gphgjwi X
2 «4. Unjuhuyyw( L pGytpGtpy UMNe X
UwulwyhgGtinp Uwulwygh wijwlnuin COnpJwo dwulwyhg | Uwulwygh wnwownpyuod
quntignud wmbintipp /nGnpyuo dwulwygh qhG
hwiiwp Gyhp “X”/ /wnw g UUL/
U/Q Uquunthh Gphgjw X 150000
1 «4. UnjuhujwG L pGYytpGtp» 235400
umnp

Quithwpwdh( 161

CGunpJwo dwulwyghl npn2tint hwdiwp yhpungwo swthwbhy” GjuquagniyG ghG

Q-Gdwl wowpyuw L hwlnhuwlnd” Epujujwwmnph yhdhdling wnwlgpwyuwy / hwwn
K Uwulwlgh wijwlnuin {pwytiph <pwytiph UGhwiwww
wwhwloGtphG wwhwloGtphG nwufuw(inip]
hwiwywwnmwufuwlnn shudwyuwunwufuwlnn | w6 hwiwnnun
hwjmtin hwjmtin (Qwnpwqnpnip)
/huiwyunmwunwbbn | /shuiwyumwuiwGbin mG
nhiwpnud Gy “X”/ 1 nhwypmy Gk “X”/
1 U/Q Uquunithh Gphgjwi X
2 «4. Unjuhujw( L pGytpGhp»y UMNC X
UwulwyhgGtinh Uwulwlygh wijwlnudp ClnpJwo swulwlhg | Uwulwygh wnwownpluwo
quntgpwo mtntpp /nGumpJuo dwulGwlygh qhG
hwdwnp Gk “X”/ /wnw(g UUL/
2 U/Q Uquunthh Gphgjw 12000
1 «4. UnjuhujwG L pGYytpGtp» X 7000
une

CGunpJwo dwulwyghb npn2tint hwdiwnp jhpunwo swthwbh) GJuquagntyG ghG




Quithwpwdh 162

Q-Gdwl wopwpyuw L hwlnhuwlnmd Epujuyjwwmnph th/nn wnwiGwihy / hwn

Quithwpwdh( 163

Q-Giwl wonwpyw £ hwlnhuwlnd” Epujuyuwwmnpp pwpdp 6620wl fjunnnjuy / hwn

K UwuGwlgh wljuwlnuip <pwytiph <pwytipph UGhwiwww
wwhwloGtphG wwhwloGtinhG wnwufuw(inip]
hwiwwwwmwuluwlnn shwiwywunwuuwlng | w6 hwdwnnn
hwjmtip hwjmtin (Qwnpwqpnip)
/huiwyunmwuniwbnt | /shuiwyuwunwuiwGbin mG
nhiypmy Gk “X”/ 1 nhiwypmy by “X”/
1 U/Q Uquunthh Gphgjwi X
2 «4. Unjuhuyyw( L pGYytpGtp»y UM X
UwulwlyhgGtinh Uwulwlgh wijwlnuin Canpwo dwulwyhg | Uwulwlgh wnwowpluo
quntgpwo mtntpp /nGmpJuo dwuGwygh qhG
hwdwnp Gyt “X”/ /wnwlg TUL/
2 U/Q Uquunthh Gphgjwl 90000
1 «4. UnjuhujwG L pGYytpGtp» X 13200
umnp
CGunpJwo dwulwyghb npn2tint hwiwp jhpunwo swihwbh) GjuquagniyG ghG

Quithwpwdh 164

K Uwulwygh wijwlnuin <pwytph Lpwytiph UGhwiwww
wwhwloGtphG wwhwloGtphG nwufuwlnip)
hwiwywwnwufuwlnn shudwyuwunwufuwlng | wl hwiwnnwun
hwjmtip hwjmtip (Qwnpwqpnip)
/huiwyumnmwuuwbbin | /shuiwyuwnmwuuwGbin mG
nhiypmy Gk “X”/ 1 nhiypmy Gohy “X”/
1 | U/9 Uquuinithh GphgjwG X
2 «4. Unjuhujw( L pGYytpGhpy UMNCL X
UwulwyhgGtinh Uwulwlygh whjwlnuip CanpJwo twulwyhg | Uwulwlygh wnwowpluo
quntgpwo mtntpp /nGnpduo Jwulwlygh qhG
hundwip Gty “X/ /unwlg UUL/
2 U/9 Uquunmhh Gphgju 15000
1 «4. Unjuhujw@ L pGytinGtp» X 13900
unp
CGnpJwo dwulwyghb npntiint hwdiwp yhpunwo swthwbhy” GJuquagniyG ghG

Q-Gdwl wopwpyuw L hwlnhuwlnd” Epujwjwwmnph pwpép d620w6 funnnjuyy / hwwn
K Uwulwlgh wijwlnuin {pwytiph <pwytiph UGhwiwww
wwhwloGtphG wwhwloGtphG nwufuw(inip]
hwiwwwwmwufuwlng shuwiwywunwuhiwlng | wl hwiwnnn
hwjmtin hwjmtin (Qwnpwqnpnip)
/huiwyunmwunwbbn | /shuiwyumwuuwGbin mG
nhiwpnud Gy “X”/ 1 nhwypmy Gk “X”/
1 U/Q Uquunithh Gphgjwi X
2 «4. Unjuhujw( L pGytpGep»y UMNCL X
UwulwyhgGtph Uwulwlygh wljwlnuip ClnpJwo swulwyhg | Uwulwygh wnwownpluwo
quntgpwo mtntpp /nAGmpJuo dwuGwlygh qhG
hwdwnp Gk “X”/ /wnw(g UUL/
2 U/Q Uquunthh Gphgjwl 9000
1 «4. UnjuhujwG L pGYytpGtp» X 7225
une




CGunpJwo dwulwyghb npn2tint hwdiwnp jhpunwo swthwbh) GJuquagntyG ghG

Quithwpwdh 165

Q-Gdwl wopwpyuw L hwlnhuwlnd” Epujujwwmnph pwpép d60w6 funnnjuy / hwwn

{pwybph

UlGhwiwww

K Uwulwlgh widwlnuin

{pwytph
wwhwloGtphG
hwiwwwwnmwuluwlnn
hwjntip
/huiwyunmwuuwGbnt
nhiypmy Gk “X”/

shwiwywwnwuuwlng

/shuiwyuwmwuuwtin
1 nhiwypmy by “X”/

wwhwloGtphG

hwjntip

wnwufuw(inip]
wl hwiwnnun
(Ywpuwqpnip)

nG

U/Q Uquunthh Gphgjwi

X
X

«4. Unjuhuyyw( L pGYytpGhp»y UMNCL

Do | —

CGnnpJwo dwulwlyhg

qha

Uwulwlygh wnwounpywo

UwulwlyhglGtph
qUunbgpwd wtntpp

Uwulwlygh wljwlnuip

/nGnpywo dwulwygh
hwiwp Gy “X”/

8000
5525

/wnw g UUL/

2

U/Q Uquunthh Gphgjw
X

1 «4. UnjuhujwG L pGYytpGtp»
umnp

Quithwpwdhl 166

Q-(iwl wnwpyuw E hwlnhuwlnd’ Epujuywwmnph pwpép 660wl funnnyuwy / hwn

CGunpJwo dwulwyghl npn2tijnt hwdiwp yhpwngwo swhwbhy GJuquagniyG ghG

/KR Uwulwlgh wGjwlnuip Lpwybtph <pwytiph UGhwiwwyw
wwhwloGtphG wwhwloGtphG wnwufuwlinp]
hwiwywwnwufuwlnn shuwdwywunwufuwlng | w6 hwiwnnwun
hwjntip hwjntin GYwnpwqnpnip)

/huiwyuwunwufuiwbbnt | /shuiwyuwunwuuwGbn G

nhiypnid Gk “X”/ 1 nhiypnud Gy “X7/
1 U/Q Uquuwnthh Gphgjwi X
UwulwyhgGtinh Uwulwlygh whjwlnuip CaunpJwo twulwyhg | Uwulwlygh wnwowpluo
quntignud wmbintipp /nGnpyuo dwulwygh qhG
hwiiwp Gyhp “X”/ /wnw g UUL/
1 U/Q Uquunthh Gphgjui X 9000

Quithwpwdh( 167

ClunpJwo dwulwlghb npnptint hwdwnp jhpwnjwo swihwGhy GjuquagniG ghG

Q-Gdwl wonwpyuw L hwlnhuwlnd” Epujujwwmnph pwpénp 660w6 funnnjuyy / huwwn
/R Uwulwlgh wGJwlnuip Lpwybtph <pwytiph UGhwiwww
wwhwloGtphG wwhwloGtphG nwufuwlnip]
hwiwywwnmwufuwlnn shudwyuwunwufuwlnn | w6 hwiwnnun
hwjmtin hwjmtin (Qwnpwqgnpnip)
/Autwywunwufuwbbne | /shwdwywnmwufuwGbiin nil
ntiypnd Gty “X”/ 1 nhiypmy Gty “X”/
1 | U/Q Uquwunthh Gphgjwi X
«4. Unjuhujw@ L pGYtpGhpy UNEC X
UwulwyhgGtph Uwulwlygh wlgwlnuip ClnpJwo swulwyhg | Uwulwygh wnwownpluwo
quntgnwo mtintipp /nGunpYuo dwulwygh qhG
hwdwp Gty “X/ /wnwGg UUL/
2 U/Q Uquunthh Gphgjwi 7000




X 4000

1 «4. UnjuhuywG L pGYytpGtp»
umne

CGunpJwo dwulwyghb npn2tint hwdiwnp jhpunwo swthwbh) GJuquagntyG ghG

Quithwpwdh 168
Q-Gdwl wopwpyuw L hwlnhuwlnd” Epujujwwmnph pwpép d60w6 funnnjuyy / hwwn

K Uwulwlgh widwlnuin Lpwybtph <pwytiph UGhwiwww
wwhwloGtphG wwhwloGtinhG nwufuw(inip]
hwiwwwwnmwuluwlnn shwiwywunwuuwlng | w6 hwdwnnn
hwjntip hwjntip (Qwnpwqgnpnip)
/huiwyunwuiwbnt | /shuiwyuwumwuiwGbin mG
nhiypmy Gk “X”/ 1 nhiwypmy by “X”/
1 U/Q Uquunthh Gphgjwi X
«4. Unjuhuyyw( L pGYytpGhp»y UMNCL X
UwulwyhglGtph Uwulwygh wijwlnuin COnpJwo dwulwyhg | Uwulwygh wnwownpluwod
quntgpwo mtntpp /nGnpywo dwulwygh qhG
hwiwp Gy “X”/ /wnw g UUL/
2 U/Q Uquunthh Gphgjw 3800
1 «4. UnjuhujwG L pGYytpGtp» X 3300
umnp

CGunpJwo dwulwyghb npntint hwiwp jhpunwo swihwbh) GJuquagniyG ghG

Quithwpwdhl 169
Q-Gdwl wonwpyuw L hwlnhuwlnd” Epujujwwmnph pwpép 660wl funnnjuy / huwwn

/KR Uwulwlgh wGjwlnuip Lpwybtph <pwytiph UGhwiwwyw
wwhwloGtphG wwhwloGtphG wnwufuwlinp]
hwiwywwnmwufuwlnn shudwyuwunmwufuwlng | wl hwiwnnwn
hwjntip hwjntin GYwnpwqnpnip)
/hudiwyuwunwuuwltne | /shuiwyuumwuiwitn G
nhiypnid Gk “X”/ 1 nhiypnud Gy “X7/
1 U/Q Uquunthh Gphgjwi X
«4. Unjuhujwi L pGYytpGtp»y UM X
Uwulwyhgltinp Uwulwygh wijwlnuin COnpJwo dwulwyhg | Uwulwygh wnwownpluod
quntgnwo wmtintipp /nGunpYuo dwulwygh qhG
hwdwp Gty “X/ /wnwGg UUL/
U/Q Uquunithh Gphgjui 4500
1 «4. UnjuhujwG L pGYytpGtp» X 3800
umnp

ClunpJwo dwulwlyghb npnptint hwdwnp jhpwnjwo swhwGhy GjuquagniG ghG
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Q-Gdwl wnwpyuw L hwlnhuwind’ {<njugdwl hwiwlwnpgh ntnhGt funnnjuy / g/

/R Uwulwlgh wGJwlnuip Lpwybtph <pwytiph UGhwiwww

wwhwloGtphG wwhwloGtphG nwufuwlinp]

hwiwwwwnwuluwlng shwiwywunwuuwlng | w6 hwiwnnn

hwjmtip hwjntin ((Lwnpwqpnip)

/Autwywunwufuwbbnt | /shwdwwywnmwufuwGbiin nil
ntiypnd Gty “X”/ 1 nhiypmy Gk “X”/

1 | U/Q Uquwunthh Gphgjwi X
2 «4. Unjuhujw@ L pGYtpGhpy UNEC X




UwulwyhgGtph Uwulwlygh wljwlnuip ClnpJwo swulwyhg | Uwulwygh wnwownpluwo
quntgpwo mtntpp /nGmpJuwo dwuGwlygh qhG
hwdwnp Gk “X”/ /wnw(g UL/
1 U/Q Uquunthh Gphgjwl X 1000
2 «4. UnjuhujwG L pGYytpGtp» 1260
umnp

CGunpJwo dwulwyghb npn2tint hwdiwp jhpunwo swihwbh) GJuquagniyG ghG
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Q-Gdwl wonwpyuw E hwlnhuwind” Epujujuwmnph wniuuwsh dwqbtinm / hwwn

K Uwulwlgh widwlnuin Lpwybtph <pwytiph UGhwiwww
wwhwloGtphG wwhwloGtinhG wnwufuw(inip]
hwiwwwwnmwuluwlnn shwiwywunwuuwlng | w6 hwdwnnn
hwjmtip hwjmtin (Qwnpwqpnip)
/hwiwyuwnuwufuwlbm | /shudwyunwuuwGhn niG
nhiypmu Gk “X”/ 1 nhiypmuy Gohy “X”/
1 /9 Uquumhh Gphgjui X
2 «4. Unjuhujw( L pGYytpGhp»y UMNCL X
UwulwlhgGtinh Uwulwlygh whjwlnuip COanpJwo dwuGwyhg | Uwuluygh wnwowpyuod
quntgpwo mtntpp /nGnpduo Jwulwlygh qhG
hundwip Gty “X/ /wnwlg UUL/
2 U/9 Uquumhh Gphgjui 15000
1 «4. Unjuhujw@ L pGytinGtp» X 13800
umnp

CGunpJwo dwulwyghl npn2tijnt hwdiwp yhpwngwo swthwbh) GjuquagniyG ghG

Quithwpwdh( 172

Q-(iwl wnwpyuw E hwlnhuwlnd” Epujujwwmnph yniuwsh uppninmwwmnp / hwwn

/KR Uwulwlgh wGjwlnuip Lpwybtph <pwytiph UGhwiwwyw
wwhwloGtphG wwhwloGtphG wnwufuwlinp]
hwiwywwnwufuwlnn shuwiwyuwunwufuwlnn | wl hwiwnnun
hwjmtp hwjmtip (Qwnpwqnpnip)
/huiwyumnmwuuwbbin | /shuiwyuwnmwuuwGbin mG
nhiypmy Gk “X”/ 1 nhiypmu Gohy “X”/
1 | U/9 Uquwunihh Gphgjw X
2 «4. UnjuhujwG L pGYytpGtp»y UMNe X
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